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First Laboratory – periodic signals 
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C) Rectangular signal  𝑓0 = 200kHz  
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D) Measurement of rise time for periodic rectangular signals 
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E) The bandwidth of the rectangular signal B=   for  
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F) Triangular signal 𝑓0 = 200kHz 
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G) Harmonic signal 𝑓0 = 200kHz 
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H) Triangular signal 𝑓0 = 10kHz (osciloscope) 
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I) The spectra of theoretical and experimental amplitudes for the rectangular and triangular signals on millimetre paper 

 

J) The power of the rectangular signal 
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K) The power of the triangular signal 
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